Difference
—— sspl26 - rcp26
— 5s5p460 - rcp60

—— ssp585 - rcp85

(b)

0.4 +

T
m
S

0.2

0.1

0.0
-0.1

™)
92UJIYIP SdDY - SISS

<l =
T T T T T T I
o 7o) o [T o N o o~
S ~ N ~N S N —
— o o o o o o
| |
(W M)

QJUBJ_IP SdDY - SdSS

0.0

DDUBIRMIP SdDY - SASS

— ss5pl26
— ssp585

Scenario

—_— rcp26
1 = rcp45
= rcp60
— rcp85

(a)

__
e =4 A
R

0.3 (h
0.2 +
1

(W m)
QDUIBHIP SdDY - SdSS

2000 2050 2100
Time

1950

1900

1850

T T T
N < m N — o

) (Lvso) abueyd
aJinjesadwa) Jie 9depns

(W M) Buidioy
SAljeIpel SARO3HT

(zw An) Budioy
9AIeIPE] BAIII9YD

T T T T

o n o N

n N~ o o

o o — —
(W M) Budioy

SAILIPE.I DAI}IDYD [0S0IBY

2000 2050 2100
Time

1950

1900

1850

1.50



